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(b) Reply to the message but not in code.

2 Of the people who entered the competition, 0-4 were girls, % were boys and
the rest were adults.

(a) Did more boys or girls enter?
(b) What percentage of entrants were adults?

3 The table shows the fraction of all the winners who chose each kit as a prize.

Kit chosen Week 1 | Week2 | Week3 | Week4 | Week5 | Week 6 i ‘

Spykit 0-04 0-07 0-11 0-19 0-28 0-36
: 7 6 1 11 2 4 i
Technokit 35 T Y 50 70 35 i

Mystery kit 68% B

(a) Copy and complete the table writing every fraction as a percentage.
(b) In which weeks did more winners choose Spykits than Technokits?

() In which week was the total number of Technokits and Spykits chosen
greater than the Mystery kits?

4 There were 2000 winners altogether. . “¥" problem solving
One half of the winners lived in England, : = ’
10% lived in Northern Ireland,
one quarter of the remaining winners lived in Wales
and the rest in Scotland.
(a) What percentage of the winners lived in Wales? ¢

(b) How many winners lived in Scotland?




